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Quiz No 1		CS614 (Data Wharehousing)	29-05-2018
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MC160400517: Wagqas Raza

CS614:Quiz No 01 Quiz Start Time: 05:23 PM. 29 May 2018
Question #4 of 10 ( Start time: 05-24:34 PM. 29 May 2018 Total Marks: 1
[The divide and conquer cube partitioning approach helps alleviate the fimitations of MOLAP implementation.
4
Select the correct option
Flexibilty
O ﬁ
Maintainabilty
O ﬁ
Security
O ﬁ
Scalabilty
O ﬁ
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MC160400517: Wagqas Raza

CS614:Quiz No 01 Quiz Start Time: 05:23 PM. 29 May 2018

Question # 5 of 10 ( Start time: 05:24:58 PM. 29 May 2018 ) Total Marks: 1
[The data in the data warehouse is

Select the correct option

[volatile

O ﬁ
non-Volatile

O ﬁ
static

O ﬁ
non-structured

O ﬁ
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MC160400517: Wagqas Raza

CS614:Quiz No 01 Quiz Start Time: 05:23 PM. 29 May 2018

Question # 6 of 10 ( Start time: 052518 PM. 29 May 2018 Total Marks: 1
Suppose the amount of data recorded in an organization is doubled every year. This increase is

Select the correct option
Linear
O ﬁ
Quadratic
O ﬁ
Exponential
O ﬁ
Logarithmic
O ﬁ
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MC160400517: Wagqas Raza

CS614:Quiz No 01 Quiz Start Time: 05:23 PM. 29 May 2018
Question #7 of 10 ( Start time: 05-25:36 PM. 29 May 2018 Total Marks: 1
Mult-dimensional databases (MDDs) typically use- formats to store pre-summarized cube structures.
4
Select the correct option
sal
O ﬁ
roprietary file
O ﬁ
Object oriented
O ﬁ
Non-proprietary file
O ﬁ
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MC160400517: Wagqas Raza

CS614:Quiz No 01 Quiz Start Time: 05:23 PM. 29 May 2018

Question # 8 of 10 ( Start time: 05-26:07 PM. 29 May 2018 Total Marks: 1
[This technique can be used when a column from one table is frequently accessed in a large scale join in conjunction with a column from another table.

Select the correct option

Horizontal spliting

O ﬁ
Pre-oining

O ﬁ
[Adding redundant colurnn

O ﬁ
Derived attibutes

O ﬁ
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MC160400517: Wagqas Raza

CS614:Quiz No 01 Quiz Start Time: 05:23 PM. 29 May 2018
Question #9 of 10 ( Start time: 05-26:29 PM. 29 May 2018 Total Marks: 1
Node of a B-Tree is stored in memory block and traversing a B-Tree involves page faults
4
Select the correct option
Onign)
O ﬁ
Oflgn)
O ﬁ
O )
O ﬁ
0 (n2)
O ﬁ
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MC160400517: Wagqas Raza

CS614:Quiz No 01 Quiz Start Time: 05:23 PM. 29 May 2018

Question # 10 of 10 ( Start time: 05-26:59 PM. 29 May 2018) Total Marks: 1
[Which of the following is not a technique of De-Normlization?

Select the correct option

Presoining

O ﬁ
Spliting Tables

O ﬁ
[Adding Redundant Columns

O ﬁ
ER Modeling

O ﬁ
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MC160400517: Wagqas Raza

CS614:Quiz No 01 Quiz Start Time: 05:23 PM. 29 May 2018

Question #2 of 10 ( Start time: 05-23:45 PM. 29 May 2018 Total Marks: 1
involves splitting a table by columns so that a group of columns is placed into the new table and the remaining columns are placed in another new table.

Select the correct option
[Vertical spiting
O ﬁ
Horizontal spliting
O ﬁ
[Adding redundant colurnn
O ﬁ

None of the given aptions





image2.png
LRy [ o A - e

€ = C | ® quizvu.edupk/QuizQuestion aspx?ver=cd38cfa7-7564-464f-89d2-ce0 7id7d7bd *

MC160400517: Wagqas Raza

CS614:Quiz No 01 Quiz Start Time: 05:23 PM. 29 May 2018

Question #2 of 10 ( Start time: 05-23:45 PM. 29 May 2018 Total Marks: 1
involves splitting a table by columns so that a group of columns is placed into the new table and the remaining columns are placed in another new table.

Select the correct option
[Vertical spiting
O ﬁ
Horizontal spliting
O ﬁ
[Adding redundant colurnn
O ﬁ

None of the given aptions
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MC160400517: Wagqas Raza

CS614:Quiz No 01 Quiz Start Time: 05:23 PM. 29 May 2018

Question #3 of 10 ( Start time: 05-24:19 PM. 29 May 2018 Total Marks: 1
[Table collapsing technique is applied in case of

Select the correct option

One-to-one relation or many-to-many relation

O ﬁ
One-tormany relation

O ﬁ
Many-to-one relation

O ﬁ
None of the given aptions

O ﬁ





